Deviation [sigma] Deviation [sigma] Flux

Deviation [sigma]

20

10

-10

-20

20

10

-10

-20

20

10

-10

-20

4U1702-429_0OP06421_W1_N19_200s.txt / MJID 51230.992031 / burstid=1404

; Grey line: exponential fit Peak flux: 3.048+/- 0.923 c/s/cm® é
g Black line: power law + gauss fit Fluence : 40.70+/- 21.01 c/cm? g
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; Exponential fit é
= Expon.time: 35.26+/- 16.18 s (chi*-red= 0.93) =
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; Power law fit é
E Power law index: -0.522+/- 0.180 (chi*-red= 0.94) =
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—  Power law fit plus Gaussian (st.dev.= 48.92+/-32.08 s, fracgs= 0.73+/- 0.83) =
= Power law index: -0.705+/- 0.573 (chi’-red= 0.94) 3
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